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>5GG4NM<EEO E<EF5<O 7=4=<=, G<5=<= < =46O>>6 6 >5?4EF< ?E<E>?>7<< G?D46?5=<O, 
?>76>?ONM<E >EGM5EF6?OFL E>F<4?L=>5 674<<>45=EF6<5 < D54?<7>6O64FL E6>N D>?L 6 
>><4=45 ('�-3), 4 F4>65 G?D46?OFL E6><< 6D5<5=5<, 6OEFD4<64FL < D54?<7>6O64FL FD45>-
F>D<N E4<>D476<F<O =4 >E=>65 ?D<=F<?>6 >5D47>64=<O 6 F5G5=<5 6E5= 6<7=< ('�-6) 6 
<=>?N7<6=>< >5M5EF65 ('�-9).

�E=>6=O<< 7444G4<< GG55=>= 4<EF<??<=O «�E<E>?>7<O G?D46?5=<O» 6 E>>F-
65FEF6<< E E>45D64=<5< D>D<<DG5<OE >><?5F5=F<= < <E M<?<D<G5E><E <=4<>4F>D>6 
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- <7GG5=<5 ?E<E>?>7<G5E><E >E>55==>EF5= < 74>>=><5D=>EF5= G?D46?5=G5E>>= 45O-
F5?L=>EF<, ?E<E>?>7<G5E><E O6?5=<=, ?D>F5EE>6 < >F=>L5=<=, 6>7=<>4NM<E 6 ?D>F5EE5 
G?D46?5=<O >D74=<74F<5=, >7=4>><?5=<5 E >E=>6=O<< ?D>5?5<4<< D>D<<D>64=<O MD-
D5>F<6=>= >><4=4O < ?E<E>?>7<G5E><<< GE?>6<O<< MF>= MDD5>F<6=>EF<; 

- E>744=<5 GE?>6<= 4?O ?>?GG5=<O >?OF4 ?D<<5=5=<O ?>?GG5==OE 7=4=<= =4 ?D4>-
F<>5 6 GG55=OE E<FG4F<OE, D>D<<D>64=<5 G<5=<O ?D<?>6<FL ?>?GG5==O5 7=4=<O > >>=-
>D5F=O< E<FG4F<O< <56?<G=>EF=>7> < 7DG??>6>7> 674<<>45=EF6<O; 

- D>D<<D>64=<5 =46O>>6 MDD5>F<6=>7> <56?<G=>EF=>7> < 7DG??>6>7> 674<<>-
45=EF6<O E ?4DF=5D4<<, =5>5E>4<<OE 4?O >D74=<74F<< D45>FO >><4=4O; G<5=<O 
>?D545?OFL EF<?L G?D46?5=<O < MDD5>F<6=>EFL DG>>6>4EF64 >><4=4>= 

- >55E?5G5=<5 ?E<E>?>7>-?5447>7<G5E><E GE?>6<= 4?O E4<>?>7=4=<O < E4<>?>=<<4-
=<O, >E>7=4=<O E>5EF65==OE <=4<6<4G4?L=>-?E<E>?>7<G5E><E >E>55==>EF5=, >?D545?5-
=<O =4?D46?5=<O E4<>D476<F<O < E4<>?D>5>F<D>64=<O.  
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F<5= 6 746<E<<>EF< >F F5?5= ?>47>F>6>< 3 
?> 6>7D4EF=O< >E>55==>EFO<, ?> MF=<G5-
E>><G <?< D5?<7<>7=><G ?D<7=4>G, E>F<-
4?L=> =574M<M5==O5 E?>< =4E5?5=<O < F.?.). 
�� 4 '� 3 3 -DD5>F<6=> 674<<>45=EF6G5F E 
4DG7<<< G?5=4<< >><4=4O, 6 F.G. GG4EF6G5F 
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�=4FL: ?E<E>?>7<G5E><5 >E>55==>EF< < 74-
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EF<, ?E<E>?>7<G5E><5 O6?5=<O, ?D>F5EEO < 
>F=>L5=<O, 6>7=<>4NM<5 6 ?D>F5EE5 
G?D46?5=<O >D74=<74F<5=, 74>>=><5D=>EF< 
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=>6=O5 GE?>6<O MDD5>F<6=>= >><4=4=>= 
D45>FO; ?D<=F<?O >><4=4=>= D45>FO, >E-
=>6=O5 E4D4>F5D<EF<>< >D74=<74F<>==>7> 
>?<<4F4 < 674<<>45=EF6<O G?5=>6 >><4=4O 
6 >D74=<74F<< 
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E?54>64FL < 4<47=>EF<D>64FL >E>55==>EF< 
>>=>D5F=>= >D74=<74F<>==>= E<FG4F<< < 
6O5<D4FL =4<5>?55 445>64F=O= E?>E>5 
G?D46?5=<O 5N, 6 F>< G<E?5 >?D545?OFL 
EF<?L G?D46?5=<O < MDD5>F<6=>EFL DG>>-
6>4EF64 >><4=4>= 

�?445FL: =46O>4<< MDD5>F<6=>7> <56-
?<G=>EF=>7> < 7DG??>6>7> 674<<>45=EF6<O 
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EF4, 6D5<5==>= ?5DE?5>F<6O D476<F<O 45O-
F5?L=>EF< < FD55>64=<= DO=>4 FDG44.  
 �� 3 '� 3 6 $54?<7G5F =4<5G5==O5 F5?< 45O-
F5?L=>EF< E GG5F>< GE?>6<=, ED54EF6, ?<G-
=>EF=OE 6>7<>6=>EF5=, MF4?>6 >4DL5D=>7> 
D>EF4, 6D5<5==>= ?5DE?5>F<6O D476<F<O 
45OF5?L=>EF< < FD55>64=<= DO=>4 FDG44. 
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74>D>6LO (���).  
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&5<4 1. �6545=<5 6 4<EF<??<=G
�D54<5F. �EF>D<O. �5F>4O ?E<E>?>7<< G?D46?5=<O. 

. 
&5<4 2. '?D46?5=<5 >4> >><<G=<>4F<>==O= ?D>F5EE, >E=>6O G?D46?5=G5E>>7> 

>5M5=<O. '?D46?5=<5 >>=D?<>F4<< 6 >D74=<74F<<

�D74=<74F<O >4> >><<G=<>4F<6=>5 ?D>EFD4=EF6>. $G=>F<< >><<G=<>4F<= 6 >D74=<-
74F<<. $4>F>DO, 6?<ONM<5 =4 MDD5>F<6=>EFL >><<G=<>4F<= 6 >D74=<74F<<. %FDG>-
FGD4 >><<G=<>4F<6=>7> 4>F4. �E<E>?>7<G5E><5 >E=>6O >>=EFDG<D>64=<O MDD5>F<6-
=>7> 45?>6>7> < G?D46?5=G5E>>7> 674<<>45=EF6<O. �E=>6=O5 EF>D>=O (<=F5D4>F<6-
=4O, ?5DF5?F<6=4O < <=F5D4>F<6=4O) G?D46?5=G5E>>7> >5M5=<O. �5D54?L=>5 < =565D-
54?L=>5 >5M5=<5 6 G?D46?5=G5E>>< 674<<>45=EF6<<. �D<G<=O < 6<4O >>=D?<>F>6 6 
>D74=<74F<<. �5F>4O G?D46?5=<O >>=D?<>F4<< 6 >D74=<74F<<. %FD4F57<<, EF<?<, 
D>D<O ?>6545=<O 6 >>=D?<>F4E < E?>E>5O D47D5L5=<O >>=D?<>F=OE E<FG4F<=.

&5<4 3. �<G=>EF=O5 ?5D5<5==O5 MDD5>F<6=>EF< G?D46?5=G5E>>=
45OF5?L=>EF<

�>=OF<5 ?<G=>EF< 6 ?E<E>?>7<<. %FDG>FGD4 ?<G=>EF<. �D>5?5<4 ?<G=>EF< DG>>6>4<-
F5?O. �<G=>EFL ?>4G<=5==>7>. �=4<6<4G4?L=>-?E<E>?>7<G5E><5 >E>55==>EF< ?<G=>-
EF<, >?D545?ONM<5 (>?>ED54GNM<5) G?D46?5=G5E>>5 674<<>45=EF6<5 (>E>55==>EF< 
<>F<64F<>==>-?>FD55=>EF=>= ED5DO: <>F<64F<O 4>EF<65=<O, <>F<64F<O 4DD<?<4-
F<<, <>F<64F<O >4>5D5=<O, F5==>EF=O5 >D<5=F4F<< ?<G=>EF<; F>?5D4=F=>EFL > =5-
>?D545?5==>EF<; ?>>GE >>=FD>?O, 4>F5=FG4F<< E4D4>F5D4 < 4D.). $54?<74F<O <=>?N-
7<6=>7> ?>4E>44 6 G?D46?5=G5E>>= 45OF5?L=>EF< (D>D<<D>64=<5 < ?>445D6>4 <=>?N-
7<6=>= >G?LFGDO, <=>?N7<6=4O >><?5F5=F=>EFL DG>>6>4<F5?O).  

&5<4 4. '?D46?5=<5 7DG??>=. �><4=4>>5D47>64=<5 
�DG??4 6 >D74=<74F<<. $5=><5=O < 74>>=><5D=>EF< 7DG??>6>= 4<=4<<><. ->E?5D<-
<5=FO $<=75?L<4=4 < D5=><5= «E>F<4?L=>7> ?>4ODO». �><4=4>>5D47>64=<5. �E=>6-
=O5 ?>4E>4O > D>D<<D>64=<N >><4=4O < D4>F>DO 55 MDD5>F<6=>EF<.  

&5<4 5. �D74=<74F<>==4O 6?4EFL < ?<45DEF6> 6 G?D46?5=<< 
>D74=<74F<5=

�D<D>44 >D74=<74F<>==>= 6?4EF<. $5EGDEO < >E=>64=<O >D74=<74F<>==>= 6?4EF<. 
�<4O >D74=<74F<>==>= 6?4EF< (?D5<<GM5EF64, >7D4=<G5=<O, GE?>6<O <E?>?L7>64-
=<O). �>F<64F<O 6?4EF<. �=4<6<4G4?L=>-?E<E>?>7<G5E><5 ?D>O6?5=<O 6?4EF<. �>-
F<64F<O ?>4G<=5=<O. $5=><5= 45EFDG>F<6=>7> ?>4G<=5=<O. $5=><5= ?<45DEF64 6 
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>D74=<74F<<. �<45DEF6> < DG>>6>4EF6>. &5>D<< ?<45DEF64: EFDG>FGD=O5, ?>6545=G5-
E><5, E<FG4F<>==O5. %F<?L G?D46?5=<O >><4=4>=. 

&5<4 6. '?D46?5=<5 <>F<64F<5= ?>4G<=5==OE < MDD5>F<6=>EFL 
G?D46?5=G5E>>= 45OF5?L=>EF<

�>F<64F<O. �>F<6O, 6<4O <>F<6>6. �>F<6O < ?>FD55=>EF< ?N45= 6 >D74=<74F<<. 
%>45D64F5?L=O5 F5>D<< <>F<64F<< (�.�4E?>G, �.�?L45DD5D4, �4>�D57>D4, 
$.�5DF55D74). �D>F5EEG4?L=O5 F5>D<< <>F<64F<< (F5>D<O ?>4>D5??5=<O, F5>D<O 
>6<44=<O, F5?564O F5>D<O) < 6>7<>6=>EF< 74>D5??5=<O 65?45<>7> ?>6545=<O G?5=>6 
>D74=<74F<<. �5F>4O =5<4F5D<4?L=>7> EF<<G?<D>64=<O (D54<74== 7444=<= < DG=>-
F<=, ?4DF<E<?4F<6=>EFL). 

&5<4 7. '?D46?5=<5 EFD5EE4<< < E4<>D57G?OF<O 6 EFD5EE4E
�>=OF<5 E4<>D57G?OF<<. %FD5EE-<5=546<5=F < F4=<-<5=546<5=F. %FDG>FGD4 F4=<-

<5=546<5=F4 < <4FD<F4 -=75=E4GMD4. %D>=>D47<. �>=OF<5 > EFD5EE5. �5M<= 444?F4-

F<>==O= E<=4D>< (��%). �<4O EFD5EE>6. �E<E>?>7<G5E><5 EFD5EEO. '?D46?5=<5 

EFD5EE4<< 6 >D74=<74F<<. %4<>D57G?OF<O 6 EFD5EE4E. �>=OF<5 >>?<=7-EFD4F57<O < 6<-

4O >>?<=7-EFD4F57<=. 

&5<4 8. �D74=<74F<>==4O >G?LFGD4 < MDD5>F<6=>EFL G?D46?5=<O 
>D74=<74F<5=

�>=OF<5 >D74=<74F<>==>= >G?LFGDO, 55 EFDG>FGD4 < E>45D64F5?L=O5 E4D4>F5D<EF<><. 
$>D<<D>64=<5 >D74=<74F<>==>= >G?LFGDO (<5F>4O <7<5=5=<O <?< ?>445D64=<O 65-
?45<>= >D74=<74F<>==>= >G?LFGDO).  
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5.��$�����&��,�/� &�%�������

�4=OF<O ?> 4<EF<??<=5 «�E<E>?>7<O G?D46?5=<O» 6>?NG4NF 6E5 6<4O GG55-

=>= D45>FO (?5>F<<, ?D4>F<G5E><5 74=OF<O, E4<>EF>OF5?L=GN D45>FG). �>E>>?L>G 4<E-

F<??<=4 ?D5?>445FEO 6 D4<>4E <==>64F<>==>= ?4D44<7<O, >5>7=4G4NM5= 6 >4G5EF65 ?D<>D<F5F=>= 

F5?< ?>47>F>6>< E?5F<4?<EF4 D476<F<5 57> EG5N5>F=>EF<, F> D54?<74F<O 4<EF<??<=O >?<D45FEO  =4 

<E?>?L7>64=<5 6 GG55=>< ?D>F5EE5 E>6D5<5==OE ?<G=>EF=>-D476<64NM<E F5E=>?>7<=. � E6O7< E 

6OL5E>474==O< ?D4>F<G5E><5 74=OF<O (74 <E>?NG5=<5< 6D5<5=< =4 F5>GM<=, DG556=O=  < <F>7>6O= 

>>=FD>?L GE6>5=<O F5>D5F<G5E>>= G4EF< 4<EF<??<=O) ?D>6>4OFEO 6 D>D<5 ?E<E>?>7<G5E>>7> FD5=<=-

74, < G4EFL ?5>F<= EFD><FEO =4 <>45?<D>64=<<  ?D>5?5<=OE E<FG4F<=, >5EG6445<OE E 4G4<F>D<5=.  

%4<>EF>OF5?L=4O D45>F4 ?> 4<EF<??<=5 6>?NG45F: 

- <7GG5=<5 (<E?>?L7>64=<5)?5>F<>==>7> <4F5D<4?4, D5>><5=4G5<>= ?<F5D4FG-

DO, <4F5D<4?>6, D47<5M5==OE 6 E5F< �=F5D=5F < 6 -�% '?��'; 

- 6O?>?=5=<5 ?D4>F<G5E><E 7444=<= ?> F5<4<, 6 F>< G<E?5 7444=<O =4 E4<>4<4-

7=>EF<>G =4 >F>DOFOE ?E<E>4<47=>EF<G5E><E ??4FD>D<4E; 

- ?>47>F>6>G > <F>7>6><G F5EF<D>64=<N ?> 4<EF<??<=5. 

�E?>?L7G5<O5 6 ?D>F5EE5 ?D5?>4464=<O 4<EF<??<=O D>D<O < <5F>4O >D74=<-

74F<< 74=OF<= < 674<<>45=EF6<O ?D5?>4464F5?O < EFG45=F>6 6 4G4<F>D<<, 4 F4>65 

>D74=<74F<< E4<>EF>OF5?L=>= D45>FO EFG45=F>6 >55E?5G<64NF 6O?>?=5=<5 =5 F>?L-

>> 4<44>F<G5E>>= (>5GG4NM5=), => < 6>E?<F4F5?L=>= < ?<G=>EF=>-D476<64NM5= 

DG=>F<=, 6 F>< G<E?5 EF<<G?<D>64=<5 ?>7=464F5?L=>= 4>F<6=>EF< EFG45=F>6 < D>D-

<<D>64=<5 <E ?D>D5EE<>=4?L=>7> E4<>E>7=4=<O < E4<><45=F<G=>EF<, ?D>D5EE<>-

=4?L=> 7=4G<<OE ?<G=>EF=OE >4G5EF6 < soft skills (>><<G=<>4F<6=OE E?>E>5=>EF5= 

< E?>E>5=>EF< > D45>F5 6 >><4=45, E?>E>5=>EF< > F>?5D4=F=><G 674<<>45=EF6<N E 

?4DF=5D4<<, <=>7>64D<4=F=>EF< < 7<5>>EF< ?>6545=<O, >D54F<6=>EF<, E?>E>5=>EF< > 

E4<>D5D?5>E<< < F.4.). %>45D64F5?L=4O E?5F<D<>4 4<EF<??<=O < <E?>?L7G5<O5 ?D< 

55 >E6>5=<< <5F>4O 4>FG4?<74F<< D5D?5>E<6=>7> D5EGDE4 ?<G=>EF< (=4?D46?5=<O 

MF>7> D5EGDE4 =4 E>5EF65==O= 6=GFD5==<= <<D < ?>6545=<5) >55E?5G<64NF 5>?55 

7?G5>>>5 E4<>?>7=4=<5 < E4<>?>=<<4=<5 EFG45=F>6, E>744NF GE?>6<O 4?O EF4=>6?5-

=<O <E EG5N5>F=>EF<, D476<F<O <E E4<>EF>OF5?L=>EF< < E?>E>5=>EF< > E4<>D57G?O-

F<<. &4><< >5D47><, D54?<74F<O 4<EF<??<=O «�E<E>?>7<O G?D46?5=<O» >EGM5EF6?O5FEO 6 E>>F65F-

EF6<< E FD55>64=<O<< $��% ��, 6O?>?=OO >5GG4NMGN, 6>E?<F4F5?L=GN < D476<64NMGN DG=>F<N.
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�E<E>?>7<G5E><= FD5=<=7 6>?NG45F G?D46=5=<O < D>?56O5 <7DO, =4?D46?5==O5 

=4 D>D<<D>64=<5 G EFG45=F>6 =46O>>6 MDD5>F<6=>7> 674<<>45=EF6<O E 4DG7<<< 

G?5=4<< >D74=<74F<<, D476<F<5 <E E?>E>5=>EF< > GEF4=>6?5=<N < D476<F<N >>=F4>-

F4 E ?4DF=5D4<<, >6?445=<5 =46O>4<< ?D<E>54<=5=<O < 4D7G<5=F4F<< E6>5= ?>7<-

F<<, D47D5L5=<O >>=D?<>F=>= E<FG4F<<.  

�E?>?L7>64=<5 ?E<E>4<47=>EF<G5E><E <5F>4<> 6 ?E<E>?>7<G5E>>= <4EF5D-

E>>= ?>76>?O5F EFG45=F4< =5 F>?L>> >E6><FL <4F5D<4? ?> F5<5, => < >E>7=4FL E>5-

EF65==O5 <=4<6<4G4?L=>-?E<E>?>7<G5E><5 >E>55==>EF< 6 <E E6O7< E >E>55==>EFO<< 

?>6545=<O 6 >D74=<74F<<, E 6>7<>6=O< 6?<O=<5< =4 G?D46?5=G5E>>5 674<<>45=-

EF6<5, E >><<G=<>4F<>==O<< ?D>F5EE4<< 6 >D74=<74F<>==>= ED545, 6OO6<FL =4 

E=>65 E4<>4=4?<74 E>5EF65==O5 «E?45O5» EF>D>=O < =4<5F<FL ?GF< E4<>D476<F<O.  

�5?>64O <7D4 «�?D545?5=<5 ?>F5=F<4?L=>7> ?<45DE>>7> EF<?O =4 >E=>65 

M>E?5DF=OE >F5=>>» >E=>64=4 =4 46GED4>F>D=>= ?>6545=G5E>>= <>45?< EF<?O 

G?D46?5=<O G=<65DE<F5F4 �74=>. �>E?5 E4<>>F5=>< ?> 6O45?5==O< D4>F>D4< EFG-

45=F D4EEG<FO645F E6>= ?>F5=F<4?L=O= EF<?L G?D46?5=<O =4 >E=>65 M>E?5DF=OE 

>F5=>> (M>E?5DF4<< 6OEFG?4NF >4=>>GDE=<><). &5?LN 45?>6>= <7DO O6?O5FEO 74-

>D5??5=<5 EFG45=F4<< F5>D5F<G5E>>7> <4F5D<4?4, 4 F4>65 4=4?<7 E>5EF65==OE ?>65-

45=G5E><E >E>55==>EF5= < <E E6O7< E ?>F5=F<4?L=O< ?<45DE>>< EF<?5<.  

�5?>64O <7D4 «�D>7=>7 6O5>D4 4?LF5D=4F<6O ?>6545=<O» ?>76>?O5F 74>D5?<FL 

<4F5D<4?, <E?>?L7GO 57> ?D< 4=4?<75 >>=>D5F=>= (7444645<>= EFG45=F4<< 7DG??O) 

>D74=<74F<>==>= E<FG4F<<) < 6 E>EF46?5=<< ?D>7=>74 ?>6545=<O ?N45= 6 MF>= E<FG-

4F<<. 

�5?>6O5 <7DO «�>D45?5>DGL5=<5», «Win/Win», «�>77>6>= LFGD<» <>45?<-

DGNF E<FG4F<< ?D<=OF<O 7DG??>6>7> D5L5=<O. �=4?<7 D57G?LF4F>6 < ?D>F5EE4 ?D<-

=OF<O D5L5=<O ?>76>?O5F E45?4FL 6O6>4O >5 GE?>6<OE < D4>F>D4E <E MDD5>F<6=>-

EF<, 4 F4>65 >5 MF4?4E ?D<=OF<O MDD5>F<6=OE 7DG??>6OE D5L5=<=.  

�D< <7GG5=<< 4<EF<??<=O «�E<E>?>7<O G?D46?5=<O», >?NG56O< D4>F>D><
>E6>5=<O >>F>D>= 6OEFG?45F =5?>ED54EF65==>5, M<>F<>=4?L=>->>D4L5==>5, D5-
D?5>E<DG5<>5 674<<>45=EF6<5 6E5E GG4EF=<>>6, >>=F4>F=O5 D>D<O D45>FO (?5>F<< 
< ?D4>F<G5E><5 74=OF<O) >EGM5EF6?ONFEO 6 D56<<5 =5?>ED54EF65==>7> E<=ED>==>7> 
674<<>45=EF6<O EFG45=F>6 < ?D5?>4464F5?O 6 4G4<F>D<<. �<5EF5 E F5< 6 ?D>F5EE5 
?D5?>4464=<O 4<EF<??<=O ?D<<5=ONFEO 4<EF4=F<>==O5 D>D<O 674<<>45=EF6<O 
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?D5?>4464F5?O < EFG45=F>6 6 4E<=ED>==>< D56<<5, >55E?5G<64NM<5 6>7<>6=>EFL 
E4<>>D74=<74F<< GG55=>= 45OF5?L=>EF< EFG45=F>6, ??4=<D>64=<5 < 6O5>D <<< 6D5-
<5=< < <5EF4 >E6>5=<O <4F5D<4?4 4<EF<??<=O E GG5F>< <E ?>FD55=>EF5= < 6>7<>6-
=>EF5=. � F>< G<E?5:  
- D47<5M5=<5 6 -�% GG55=>-<5F>4<G5E>>7> >55E?5G5=<O 4<EF<??<=O (?>?=>7> 
GG55=>-<5F>4<G5E>>7> >><??5>E4, 6>?NG4NM57> D45>GGN ?D>7D4<<G < D>=4 >F5-
=>G=OE ED54EF6 ?> 4<EF<??<=5, GG55=>-<5F>4<G5E><5 <4F5D<4?O: <5F>4<G5E><5 D5-
>><5=44F<< ?> <7GG5=<N < >D74=<74F<< E4<>EF>OF5?L=>= D45>FO EFG45=F>6 < >D4F-
>>5 E>45D64=<5 ?5>F<>==>7> >GDE4, ?D575=F4F<< < 7444=<O ?> F5<4<, >>=FD>?L=O5 < 
F5EF>6O5 7444=<O).  

�D< >5EF>OF5?LEF64E, <E>?NG4NM<E =5?>ED54EF65==O= >>=F4>F EFG45=F>6 E 
?D5?>4464F5?5< < FD55GNM<E D54?<74F<< GG55=>7> ?D>F5EE4 6 4<EF4=F<>==> D56<-
<5, E<=ED>==>5 4<EF4=F<>==>5 674<<>45=EF6<5 EFG45=F>6 < ?D5?>4464F5?O >EG-
M5EF6?O5FEO =4 ??4FD>D<5 moodle < 6 6<DFG4?L=>= ?5>F<>==>= 4G4<F>D<< 6 -�% 
'?��'. �?O E<=ED>==>7> 4<EF4=F<>==>7> 674<<>45=EF6<O ?D5?>4464F5?O < EFG45=-
F>6 <E?>?L7G5FEO G4F ?> 4<EF<??<=5: 

http://tiugsha.ru/doc/annotacii_rp/23.03.03_ettmik23/b1o06.html
(G4F <E?>?L7G5FEO 4?O >5EG645=<O GG55=>7> <4F5D<4?4 6 >=?4==-D56<<5 6 F5G5=<5 
6D5<5=<, ?D54=47=4G5==>7> 4?O >E6>5=<O 4<EF<??<=O). 

�D74=<74F<O >5D47>64F5?L=>7> ?D>F5EE4 4?O <=64?<4>6 < ?<F E 
>7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO

�5GG5=<5 4<EF<??<=5 <�E<E>?>7<O G?D46?5=<O= ?<F >F=>EOM<EEO > >4F57>D<< 

<=64?<4>6 < ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO >EGM5EF6?O5FEO E GG5-

F>< >E>55==>EF5= ?E<E>D<7<G5E>>7> D476<F<O, <=4<6<4G4?L=OE 6>7<>6=>EF5= < E>-

EF>O=<O 74>D>6LO F4><E >5GG4NM<EEO.  

� E?GG45 6>7=<>=>65=<O =5>5E>4<<>EF< >5GG5=<O ?<F E >7D4=<G5==O<< 6>7-

<>6=>EFO<< 74>D>6LO 6 6G75 ?D54GE<4FD<645FEO E>744=<5 E?5F<4?L=OE GE?>6<=, 

6>?NG4NM<E 6 E55O <E?>?L7>64=<5 E?5F<4?L=OE >5D47>64F5?L=OE ?D>7D4<<, <5F>-

4>6 6>E?<F4=<O, 4<44>F<G5E><E <4F5D<4?>6, E?5F<4?L=OE F5E=<G5E><E ED54EF6 >5G-

G5=<O >>??5>F<6=>7> < <=4<6<4G4?L=>7> ?>?L7>64=<O, ?D54>EF46?5=<5 GE?G7 4EE<-

EF5=F4 (?><>M=<>4), >>47O64NM57> >5GG4NM<<EO =5>5E>4<<GN F5E=<G5E>GN ?>-

<>ML, ?D>6545=<5 7DG??>6OE < <=4<6<4G4?L=OE >>DD5>F<>==OE 74=OF<=, >55E?5G5-

=<5 4>EFG?4 6 744=<O 6G74 < 4DG7<5 GE?>6<O, 557 >>F>DOE =56>7<>6=> <?< 74FDG4=5-

https://moodle.ulsau.ru/course/view.php?id=10918
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=> >E6>5=<5 >5D47>64F5?L=OE ?D>7D4<< >5GG4NM<<<EO E >7D4=<G5==O<< 6>7<>6-

=>EFO<< 74>D>6LO.  

�D< ?>?GG5=<< 6OEL57> >5D47>64=<O >5GG4NM<<EO E >7D4=<G5==O<< 6>7<>6-

=>EFO<< 74>D>6LO ?D54>EF46?ONFEO 55E??4F=> GG55=4O ?<F5D4FGD4, 4 F4>65 GE?G7< 

EGD4>?5D56>4G<>>6 < F<D?>EGD4>?5D56>4G<>>6. % GG5F>< >E>5OE ?>FD55=>EF5= 

>5GG4NM<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO >55E?5G<645FEO ?D54>-

EF46?5=<5 GG55=OE, ?5>F<>==O< <4F5D<4?>6 6 M?5>FD>==>< 6<45. 

6.�$���$�/� �&���'�/� %$��%&�� ��/  �%������, &��'-��� �
$'������� ���&$��/ '%�������%&�, �$����'&�'��� �&&�-

%&�&�� �� �&���� �%�����/ ��%&�����/

$>=4 >F5=>G=OE ED54EF6, ED>D<<D>64==O= 4?O ?D>6545=<O 6E>4=>7>, 
F5>GM57> < DG556=>7> >>=FD>?O GE?5645<>EF< < ?D><56GF>G=>= 4FF5EF4F<< 
>5GG4NM<EEO ?> 4<EF<??<=5 D47D45>F4= =4 >E=>64=<< $545D4?L=>7> 74>>=4 
$>EE<=E>>= $545D4F<< >F 29 45>45DO 2012 7.7 273-$� «�5 >5D47>64=<< 6 
$>EE<=E>>= $545D4F<<».  

$>=4 >F5=>G=OE ED54EF6 ?D54EF46?5= 6 ?D<?>65=<< D45>G5= ?D>7D4<<O < 
6>?NG45F 6 E55O: 

- ?5D5G5=L >><?5F5=F<= E G>474=<5< MF4?>6 <E D>D<<D>64=<O 6 ?D>F5EE5 
>E6>5=<O >5D47>64F5?L=>= ?D>7D4<<O; 

- >?<E4=<5 ?>>474F5?5= < >D<F5D<56 >F5=<64=<O >><?5F5=F<= =4 D47?<G=OE 
MF4?4E <E D>D<<D>64=<O, >?<E4=<5 L>4? >F5=<64=<O; 

- F<?>6O5 >>=FD>?L=O5 7444=<O <?< <=O5 <4F5D<4?O, =5>5E>4<<O5 4?O 
>F5=>< 7=4=<=, G<5=<=, =46O>>6 < (<?<) >?OF4 45OF5?L=>EF<, E4D4>F5D<7GNM<5 
MF4?O D>D<<D>64=<O >><?5F5=F<= 6 ?D>F5EE5 >E6>5=<O >5D47>64F5?L=>= 
?D>7D4<<O;  

- <5F>4<G5E><5 <4F5D<4?O, >?D545?ONM<5 ?D>F54GDO >F5=<64=<O 7=4=<=, 
G<5=<=, =46O>>6 < (<?<) >?OF4 45OF5?L=>EF<, E4D4>F5D<7GNM<E MF4?O 
D>D<<D>64=<O >><?5F5=F<=. 



7. ''����-��&���'�%��� ���%��'���� %���%&�/&��,��� $���&/
%&'���&��

8. ''����-��&���'�%��� � ��$�$��&������ ���%��'����
��%&�����/

4) >E=>6=4O ?<F5D4FGD4

1. �><@B64, 2. !.  #E<IB?B7<S GCD46?9A<S : GK95A<> < CD4>F<>G@ 8?S 6G;B6 /

2. !. �><@B64. 4  BE>64 : �;84F9?PEF6B 2D4=F, 2023. 4 320 E. 4 (�OEL99 B5D4-

;B64A<9). 4 ISBN 978-5-534-00630-8. 4 &9>EF : Q?9>FDBAAO= // "5D4;B64F9?PA4S 

C?4FHBD@4 2D4=F [E4=F]. 4 URL: https://urait.ru/bcode/511399  (84F4 B5D4M9A<S: 

06.04.2023). 

2. %9?9;A964, �. �.  #E<IB?B7<S GCD46?9A<S : GK95A<> < CD4>F<>G@ 8?S 6G;B6 /

�. �. %9?9;A964. 4  BE>64 : �;84F9?PEF6B 2D4=F, 2023. 4 373 E. 4 (�OEL99 B5D4-

;B64A<9). 4 ISBN 978-5-9916-8378-4. 4 &9>EF : Q?9>FDBAAO= // "5D4;B64F9?PA4S 

C?4FHBD@4 2D4=F [E4=F]. 4 URL: https://urait.ru/bcode/511259  (84F4 B5D4M9A<S: 

06.04.2023). 

3. #E<IB?B7<S GCD46?9A<S C9DEBA4?B@ : GK95A<> 8?S 6G;B6 / �. �. $B7B6 [<

8D.] ; CB8 B5M9= D984>J<9= �. �. $B7B64. 4  BE>64 : �;84F9?PEF6B 2D4=F, 2023. 4

350 E. 4 (�OEL99 B5D4;B64A<9). 4 ISBN 978-5-534-03827-9. 4 &9>EF : Q?9>FDBA-
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